B0 Tl ERFEATLRTER? ) RERR

XA F LA EY o

¥MUTO6FFHIOR Y Ho R

F3F LR gﬁ—l Bx Lo

(1) F¥37A 8 F > F3F4 0k
Z(F"H -RY -H
1)

13

1%+ F 23,000 ~ » 5 & & &8

2. MERGY FHE ¥ F 15

S REFTHRF A et Y et 6k

4w§ﬁ$%§i%£ﬂ§%”?%’?iﬁ?§%
v plskiad 1 TE | g

(https://tocfl. edu. tw/index. php/exam/test ) p|
o

5%§4ﬁ;%a®7W2A%W@§§4
Ly EFATR G ALE
6T TRAEE S KT
(https://tkids. nknu. edu. tw/) EF 32 F 4 F

7.§g%z;§?iﬁu£‘av\§f RSB 5 NETH?
BT RARERD - S L EAR o

s 2 L
N

(2> ﬁgﬁﬁﬁ'%ﬂl EN )7 B ]L/‘ED'
(R ~F®)

T N TP N I P
NPT AR 800 &/ B o b BhbETAREL Y
1,600 = /| p¥ -

DO

3. ER|% 12500 & o
4.%ié@%§ﬁ16%
5. ¥ IR B UsmELR ~ ERIF R ped o
(3) #HFTEA X 5 > P A F%E | 1. &’%#’F‘QF\F%-B CPE S ChER 3 pF
pigd (M* ~R®|) 2. P E-AETAREEY 800 A/ [ B TAbEL S
1,600 ~/-] p* -
3. aHMFEMMFEET L4800 ~ -
4, F % % 112,000 ~ o
5. k% 11,000 & o
6. sed 5 ¥ &L 6%
7. ¥ Fragpt g R 12,000 ~ -
(4) Snbr ~PEE &F5 5 A2 it | L&Y G e aTE % 6,000 ~ 5 2o
ﬁﬁ ﬂéﬁ?ﬁﬁ(@ 2.3 TE R B R REWRGE
) 2P ~EHY o~ kE
(5-1) # ‘ﬁ@#%‘+%€§ R kR 10 ) pF oo
@mﬁ(wﬂ~ﬁ+) 2. BEWHARATALY ALALERRYE
600 ~/ ] pF ~ & %%iﬁ%ﬁ 800 ~ /-] p= o
3. i‘%zﬁ%"ﬁ %525 % e
4. FRIFER L 20 &
5. i 3 V&R 6%
(5-2) Fwewraw > (-2 1. ] B8P i3 10 ) pF o
@gwﬁv(mé‘- 2. I BIMEA AT A A AL H B ERRE 600 &/
1) ¢%~£%%?ﬁ%%8%5Jd%°
3 %zp\%ffﬁ%‘rff’rﬁﬂxﬂi AR 48 E\,hp




() MLRBATFY (R
PR

DD — |3

- |\
&~

1‘3?%)‘4-0

w

J:J\

=

M TSml
e
o

(@]
=9
i
M
iy
hpas)
P
&
:3!_'31
e

e i
I~ a3 SR RES  AWLRkYAESE  F A RBEHIIEIAKRDY
fuk SR UL S




